## EQUADIFF 9

## Tadie

Elliptic equations with decreasing nonlinearity II: radial solutions for singular equations

In: Zuzana Došlá and Jaromír Kuben and Jaromír Vosmanský (eds.): Proceedings of Equadiff 9, Conference on Differential Equations and Their Applications, Brno, August 25-29, 1997, [Part 3] Papers. Masaryk University, Brno, 1998. CD-ROM. pp. 275--279.

Persistent URL: http://dml.cz/dmlcz/700299

## Terms of use:

© Masaryk University, 1998

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# Elliptic Equations with Decreasing Nonlinearity II: Radial Solutions for Singular Equations 

Tadie

Matematisk Institut, Universitetsparken 5<br>2100 Copenhagen, Denmark Email: tad@math.ku.dk


#### Abstract

By means of the super-sub-solutions method from [3], the existence of decreasing solutions of some singular elliptic equations will be established.


AMS Subject Classification. 35J70, 35J65, 34C10

Keywords. $p$-Laplacian, integral equations

## 1 Introduction

Let $f \in C^{1}\left([0, \infty) ; \mathbb{R}_{+}\right)$with $f(r)>0 \forall r \geq 0$ and $f(r) \simeq r^{-\theta}$ at $\infty$ for some $\theta>0$. For some $a>1$ and $p \in(1,2]$, assume that
f) $\exists b \in(0, a+1-p]$; for $w(t):=(1+t)^{-b /(p-1)}$, some $\gamma>0$ and

$$
\psi(r):=f(r) w(r)^{-\gamma}, \quad \int_{0}^{\infty} s^{b+p-1} \psi(s) d s<\infty
$$

In this note, we investigate the existence of positive and decreasing solutions $u \in C^{2}:=C^{2}([0, \infty))$ of

$$
\left.\begin{array}{l}
Q u \equiv  \tag{Q}\\
=\left(r^{a}\left|u^{\prime}\right|^{p-2} u^{\prime}\right)^{\prime}+r^{a} F_{q}^{\nu}(r, u)_{+}=0, \quad u^{\prime}(0)=0, \\
\quad \text { where } \quad \mathrm{q}>0, \quad \mathrm{~F}_{\mathrm{q}}^{\nu}(\mathrm{r}, \mathrm{u}):=\mathrm{f}(\mathrm{r}) \mathrm{u}^{-\gamma}-\nu \mathrm{u}^{\mathrm{q}}, \quad \nu \geq 0, \\
\text { or } \quad \mathrm{F}_{\mathrm{q}}^{\nu}(\mathrm{r}, \mathrm{u}):=\nu \mathrm{f}(\mathrm{r}) \mathrm{u}^{-\gamma}+\mathrm{u}^{\mathrm{q}}, \quad \nu>0 .
\end{array}\right\}
$$

For $a=n-1, n \in \mathbb{N}$, such $u$ is a radial solution in $\mathbb{R}^{n}$ of the $p$-Laplacian equations $\quad \operatorname{div}\left(|\nabla u|^{p-2} \nabla u\right)+F_{q}^{\nu}(|x|, u)_{+}=0$.
For a positive and decreasing function $\phi$, define

$$
\Phi(r)=T \phi(r):=\phi(0)-\int_{0}^{r} d t\left\{\int_{0}^{t}(s / t)^{a} F_{q}^{\nu}(s, \phi)_{+} d s\right\}^{1 /(p-1)} .
$$

This is the final form of the paper.

Given such a function $\phi$, the following result from [3] will be used:

$$
\text { assume that } \quad \int_{0}^{\infty}\left(1+s^{p-1}\right) F_{q}^{\nu}(s, \phi)_{+} d s<\infty
$$

if $\forall r \geq 0 \quad Q \phi \geq 0 \quad\left(\leq 0 \quad\right.$ respectively) and $F_{q}^{\nu}(r,$.$) is positive and decreasing$ in $[\Phi(r), \phi(r)]([\phi(r), \Phi(r)]$ respect. $)$, then (Q) has a decreasing solution $u \in$ $C^{2}([0, \infty))$ such that $\Phi \leq u \leq \phi \quad(\phi \leq u \leq \Phi$ respect. $)$ in $[0, \infty)$.
The main results are the following:
Theorem 1 (Uniqueness). Assume that $\forall r \geq 0 \quad t \mapsto F_{q}^{\nu}(r, t)_{+}$is decreasing in $t>0$. Then
a) $\forall b \geq 0$, if it exists the decreasing solution $u_{b} \in C^{1}$ of (Q) such that $\lim _{\infty} u_{b}=b$ is unique;
b) $\forall R>0$, if it exists the decreasing solution $u \in C^{1}([0, R))$ of (Q) such that $u(R)=0$ is unique.
Theorem 2 (Existence). Suppose that for some $\gamma>0$ and $b \in(0, a+1-p]$

$$
\begin{equation*}
\int_{0}^{\infty} s^{b+p-1} f(s)(1+s)^{b \gamma /(p-1)}<\infty . \tag{1}
\end{equation*}
$$

1) Then, the equation

$$
\begin{equation*}
\left(r^{a}\left|u^{\prime}\right|^{p-2} u^{\prime}\right)^{\prime}+r^{a} f(r) u(r)^{-\gamma}=0 \tag{2}
\end{equation*}
$$

has a unique positive and decreasing solution $u \in C^{2}:=C^{2}([0, \infty))$ such that

$$
u \leq C r^{-b /(p-1)} \quad\left(u \simeq r^{-b /(p-1)} \quad \text { if } b=a+1-p\right) \text { at } \infty ;
$$

2) if also $q>\max \{p(p-1) / b,-\gamma+\theta(p-1) / b\}$,
i) there is $\nu_{0}>0$ depending only on $f$ such that for $\nu \in\left(0, \nu_{0}\right]$

$$
\begin{equation*}
\left(r^{a}\left|v^{\prime}\right|^{p-2} v^{\prime}\right)^{\prime}+r^{a}\left\{f(r) v(r)^{-\gamma}-\nu v(r)^{q}\right\}_{+}=0 \tag{3}
\end{equation*}
$$

has a unique decreasing and positive solution $v \in C^{2}$; if in addition $q>(p-1)(b+p) / b$, then $v(r) \leq C r^{-b /(p-1)}$ at $\infty$;
ii) there is $\nu_{1}>0$ depending only on $f$ such that $\forall \nu>\nu_{1}$

$$
\begin{equation*}
\left(r^{a}\left|U^{\prime}\right|^{p-2} U^{\prime}\right)^{\prime}+r^{a}\left\{\nu f(r) U^{-\gamma}+U^{q}\right\}=0 \tag{4}
\end{equation*}
$$

has a positive and decreasing solution $U$ such that $U \leq C r^{-b /(p-1)}$ at $\infty$.

## 2 Preliminaries

Definitions and notations:
$\mu:=1 /(p-1) ; \quad m:=\mu b, \quad b \in(0, a+1-p] ; w(r):=(1+r)^{-m} ; \int v(s):=$ $\int v(s) d s ; \psi(r):=f(r) w(r)^{-\gamma} ; t_{*}:=\max \{1, t\}$ and $D_{a}^{p} u:=\left(r^{a}\left|u^{\prime}\right|^{p-2} u^{\prime}\right)^{\prime}$.

### 2.1 Properties of some integrals

Define for $t \geq 0$

$$
\begin{equation*}
J(t):=\int_{t}^{\infty}\left(\int_{0}^{r}\left(\frac{s}{r}\right)^{a} \psi(s)\right)^{\mu} . \tag{5}
\end{equation*}
$$

We normalized $f$ so that

$$
\begin{equation*}
\Psi_{1}:=\int_{0}^{1}\left(\int_{0}^{r} \psi\right)^{\mu}+\frac{1}{m}\left(\int_{0}^{\infty} s^{b+p-1} \psi\right)^{\mu} \leq 1 . \tag{6}
\end{equation*}
$$

Lemma 3. If

$$
\begin{equation*}
\int_{0}^{\infty} s^{b+p-1} \psi(s)<\infty \quad \text { or } \quad 0<\gamma<(p-1) \frac{(\theta-b-p)}{b} \tag{7}
\end{equation*}
$$

where $b \in(0, a+1-p]$, then $\forall t \geq 0$

$$
\begin{gather*}
\frac{(p-1)}{a+1-p}\left(\int_{0}^{1} s^{a} \psi\right)^{\mu} \leq J(t) \leq \Psi_{1} t_{*}^{-m} ;  \tag{8}\\
b=a+1-p \Longrightarrow m J(t) \geq t^{-m}\left\{\int_{0}^{1} s^{a} \psi(s) d s\right\}^{\mu} \forall t>1 ;  \tag{9}\\
\left|J(t)^{\prime}\right| \leq\left\{\left(\int_{0}^{1} \psi\right)^{\mu}+\left(\int_{0}^{\infty} s^{b+p-1} \psi\right)^{\mu}\right\} t_{*}^{-m-1} ;  \tag{10}\\
\left|J(t)^{\prime \prime}\right| \leq(a+1) \mu\left|J(t)^{\prime}\right|^{(\mu-1) / \mu}|\psi|_{\infty}, \tag{11}
\end{gather*}
$$

where (7) is not necessary for the lower bound in (8).
Proof. We have

$$
J(t)=\int_{t}^{\infty} r^{-m-1}\left\{r^{-a+b+p-1} \int_{0}^{r} s^{a} \psi\right\}^{\mu} \leq \int_{t}^{\infty} r^{-m-1}\left(\int_{0}^{\infty} s^{b+p-1} \psi\right)^{\mu}
$$

on one hand and

$$
J(t) \leq \int_{0}^{1}\left(\int_{0}^{r} \psi\right)^{\mu}+\int_{1}^{\infty} r^{-m-1}\left(\int_{0}^{\infty} s^{b+p-1} \psi\right)^{\mu}
$$

on the other hand; the RHS of (8) then follows from integrations by parts . For $t \leq 1$,

$$
J(t) \geq \int_{1}^{\infty}\left(r^{-a} \int_{0}^{r} s^{a} \psi\right)^{\mu} \geq\left(\int_{0}^{1} s^{a} \psi\right)^{\mu} \int_{0}^{\infty} r^{-a \mu} d r
$$

and for $t>1$,

$$
J(t) \geq\left(\int_{0}^{1} s^{a} \psi\right)^{\mu} \int_{t}^{\infty} r^{-a \mu} d r
$$

We thus get the LHS of (8).
If $b=a+1-p, J(t) \geq\left(\int_{0}^{1} s^{a} \psi\right)^{\mu} \int_{t}^{\infty} r^{-m-1} d r$ and (9) follows.
For $t>1$, as $a>b+p-1$,

$$
0 \leq-J(t)^{\prime} \leq\left(t^{-b+1-p} \int_{0}^{t} s^{b+p-1} \psi\right)^{\mu} \leq t^{-m-1}\left(\int_{0}^{\infty} s^{b+p-1} \psi\right)^{\mu}
$$

For $t \leq 1\left|J(t)^{\prime}\right| \leq\left(\int_{0}^{1} \psi\right)^{\mu}$ and (10) is obtained.
For (11),

$$
J(r)^{\prime \prime}=-\mu\left\{r^{-a} \int_{0}^{r} s^{a} \psi\right\}^{\mu-1}\left\{-a r^{-a-1} \int_{0}^{r} s^{a} \psi(s)+\psi(r)\right\}
$$

hence from

$$
\left|J(r)^{\prime \prime}\right| \leq \mu(a+1)|\psi|_{\infty}\left(r^{-a} \int_{0}^{\infty} s^{a} \psi\right)^{\mu-1}
$$

(11) follows.

Lemma 4. Under the assumptions (6)-(7)

$$
\begin{equation*}
\left(r^{a}\left|U^{\prime}\right|^{p-2} U^{\prime}\right)^{\prime}+r^{a} \psi(r)=0 ; \quad r \geq 0 \tag{12}
\end{equation*}
$$

has a decreasing and positive solution $U \in C^{2}([0, \infty))$ such that

$$
\begin{equation*}
U(r) \leq(1+r)^{-b /(p-1)} \quad \forall r \geq 0 \tag{13}
\end{equation*}
$$

Proof. It is easy to verify that $U=J$ where J is defined in (5) satisfies (12). Then (8)-(11) complete the proof.

### 2.2 Proof of Theorem 1

Let $u$ and $v$ be two such solutions with $u>v>0$ in some $[0, R)$.
As they are decreasing, from the equations, in $[0, R)$

$$
\left\{r^{a}\left(\left|v^{\prime}\right|^{p-1}-\left|u^{\prime}\right|^{p-1}\right)\right\}^{\prime}=r^{a}\left\{F_{q}^{\nu}(r, v)-F_{q}^{\nu}(r, u)\right\}>0
$$

with $\left.r^{a}\left(\left|v^{\prime}\right|^{p-1}-\left|u^{\prime}\right|^{p-1}\right)\right|_{r=0}=0$, whence $\left|v^{\prime}\right|>\left|u^{\prime}\right|$ or $v^{\prime}<u^{\prime} \leq 0$ in $(0, R)$. This implies that $u(r)-v(r)>u(0)-v(0)$ whenever $v(r)>0$.

### 2.3 Proof of Theorem 2

In the lights of the super-sub-solutions methods established in [3], it suffices for each case to find an appropriate sub- or supersolution of the problem.

1) The function $U$ in Lemma 4 is a supersolution of (2) as

$$
\psi(r)=f(r)(1+r)^{b \gamma /(p-1)} \leq f(r) U(r)^{-\gamma}
$$

The estimate for the case $b=a+1-p$ follows from (9).
2) i) The solution $v$, say, obtained in 1 ) satisfies $v(r) \leq(1+r)^{-b /(p-1)}$.

$$
F(r, v)=v^{q}\left\{f(r) v^{-(\gamma+q)}-\nu\right\} \geq v^{q}\left\{f(r)(1+r)^{b(\gamma+q) /(p-1)}-\nu\right\}
$$

So, as $f(r)>0$ everywhere, there is $\nu_{0}:=\inf _{r>0}\left[f(r)(1+r)^{b(q+\gamma) /(p-1)}\right]$ such that if $\nu \leq \nu_{0}$, then $F(r, v):=f(r) v^{-\gamma}-\nu v^{q} \geq 0$ and $\partial_{v} F(r, v) \leq 0$.
Then $v$ is a suitable subsolution of (3) as the condition (1) of Theorem 5 of [3] is guaranteed by $q>\max \{p(p-1) / b,-\gamma+\theta(p-1) / b$ (see $(\phi))$.
If in addition $q>(b+p)(p-1) / b$, then $V(r):=\int_{r}^{\infty}\left(\int_{0}^{t}(s / t)^{a} F(s, v) d s\right)^{\mu} d t$ is a supersolution of the equation with $r^{b /(p-1)} V(r)$ bounded.
ii) For $G(r, \phi):=\nu f(r) \phi^{-\gamma}+\phi^{q}$,

$$
\partial_{\phi} G(r, \phi)=q \phi^{-1-\gamma}\left\{\phi^{q+\gamma}-\gamma \nu f(r) / q\right\}:=q \Phi^{-1-\gamma} \Psi_{\nu}(r)
$$

where $\Psi_{\nu}(r):=(1+r)^{-b(\gamma+q) /(p-1)}-\nu \gamma f(r) / q$.
If $q>\theta(p-1) / b-\gamma$ and $\phi<(1+r)^{-b /(p-1)}$, then for some large $R>0$ there is $\Psi_{\nu}(r)<0$; in this case there is $\nu_{1}:=\sup _{[0, R]} q\left\{\gamma(1+r)^{b(\gamma+q) /(p-1)} f(r)\right\}$ such that $\nu>\nu_{1}$ implies that $G$ is decreasing in such positive $\phi$. The solution $v$ obtained in 1) is then a suitable supersolution of (4).

This work is dedicated to my late uncle Toam Chatue J.B., ( $\dagger$ on 14/08/1997).

## References

[1] Furusho, Y. On decaying entire positive solutions of semilinear elliptic equations. Japan J. Math. 14 \#1 (1988), 97-118.
[2] Kusano T. and Swanson C. A. Radial entire solutions of a class of quasilinear elliptic equations. J. Differential Equations 83 (1990), 379-399.
[3] Tadie Elliptic equations with decreasing nonlinearity I : Barrier method for decreasing radial solutions.
[4] Tadie Subhomogeneous and singular quasilinear Emden-type ODE. Preprint \# 11, Series 1996, Copenhagen University.

